Linear Equations

Solve for = or explain why there is no solution.

l.z2—-8=5
2. 4o = 32

3. 4=x+11
4. 9422 =1
5. 3z —7=28
6. 10 —z =20

7. =19 =17 —4x

8. 1—x=
3,.
10. 1-2=-3

11. 1424+ 28 =0

12. 1 -7 =0

13. 7+ % =10

4. z=2+1

15. z =2z

16. 3(x +1)=2(x+1)+5

174+ (1—2)(=7) =2(x+1) =5+ 5z
18. 8(1 — 2z) = 4(1 — 4z) + 5

19. 122 +2=4—-2(1 —22) + 8

20. 3(7+5x) =37 — [5(x + 2) — 11x]
91. —9+ [7(3x + 1) — 11a] = —2(1 — 52)
22. 6(4x +8) = 12(z +4)

23. £4+2=5

24. & =
25. m+%=§x—£

26. 3z —2 = —2(2x — 5) + 2

27 —Z4+Z+2=1

28.
29.
30.
31.
32.
33.
34.
35.
36.
37.
38.
39.
40.

41.

F= 33 -%)
er2- 4G -9

75(352 4+ 100) — Z(z — 2) —

H-12=0

3(7T—2z+2%) =14+ 32* —8(x — 1)
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11.
12.
13.
14.
15.
16.
17.

18.
19.
20.

21.

22.
23.
24.
25.
26.

27.

28.

29.

Answers:
13

8
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No solution.

0
4

x = any real number

No solution.

x = any real number

2
3

x = any real number

No solution.

30.
31.

32.

33.
34.
35.

36.

37.

38.

39.

40.

41.

(A1)

—12
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x = any real number
1
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